MSFE EREBRAREXERISE S9FE
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®m A ERBEARKREXE I = 5
= TEHE RHSEELYTHE FHAFEELTE 2434
EEE(FH) HE) EE(FH) HE) EE(FMA) BUE

1 EERERKREKESH 970,134 17.3% 909,307 16.3% 60,827 6.7%
2 ERANEUCFHEH 350 0.0% 350 0.0% 0 0.0%
3 I E x H = 201 0.0% 1 0.0% 200| 20000.0%
nfﬁ 53 H = 4,104,690 73.1% 4,003,824 71.6% 100,866 2.5%
5 (81 E 4z A 1 0.0% 1 0.0% 0 0.0%
6 |#& A = 533,458 9.5% 537,661 9.6% A 4203 -0.8%

(FE ) (406,862) (411,370) (A4,508)

(& %E 9) (126,596) (126,291) (305)
1 |# 4 = 1 0.0% 135,000 2.4% A 134,999 -100.0%
8 |5 4z A 4,008 0.1% 3,608 0.1% 400 11.1%
& 5,612,843 100.0% 5,589,752 100.0% 23,091 0.4%

®m M ERREBERKREXR N &G
P FERE THSEELYTE THAEELYTE e 3
EHEEFEM) & EHEFM) & EHEEFM) U

1 |# % = 28,808 0.5% 24117 0.4% 4,691 19.5%
nﬁ ko & E 4,063,809 72.4% 3,963,009 70.9% 100,800 2.5%
3 ERBRAREEMESSE 1,300,862 23.2% 1,379,470 24.7% A 78,608 -5.7%
4 £ REERLHE 3 0.0% 3 0.0% 0 0.0%
S|k & = %X & 79,964 1.4% 78,756 1.4% 1,208 1.5%
6 & & B I £ 1 0.0% 1 0.0% 0 0.0%
1 |2 & = 126,292 2.3% 126,292 2.3% 0 0.0%
8 |5 53 H 3 13,104 0.2% 13,104 0.2% 0 0.0%
9 ¥ % = 0 0.0% 5,000 0.1% A 5,000/ -100.0%
B 5,612,843 100% 5,589,752 100% 23,091 0.4%
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TSR [E R IRR S RIS TR

FEBE 56/=1,284 5 H (RFaT4EEEL 2,30975 FHEE., 0.4%58)
BEARBRIE B 9,161 A\ (IBi4EEEL: 805 A 8.1%I%K)
S THTERIF DM 4 S DA B 7 Vo R S U T B W B (4 S 4))

(% H)
PR G A E 40156,381 F I GRFRETAEE L 1/580 5 FH I, 2.5%H8)

X TR T AV RREGIE DL 2 PEZ DN XD | [EIRE O FIA B NKEETHDT280
T FIAFE DR IE T RAR O i A B,

— 5y 401&2,239 5 1 CRFRTAEE L 1E65 0 P8, 2.6%H)
IRy 6.7 H GFRTHEE  [FI%H)

X ERED— My LIRSy DB FHRRDI B AT (PRIGRHG T #e 5245 4 - E i 47)

[ B ft FE R o S S B T 4 13{886 17 [
(RIRTAEEE L 7,861 75 M3, 5. 7%]8)

BORBRE — N Y720 142,000 P RIT4EE L 3,582 44, 2.6%H)

(. A)
AR 9(E7,013 5 (RIRTAEELE 6,08277 FIHY. 6.7%1H)

S HE (R BRI SR | Z HEHLL TV T,
BAERE Sy 9fE4,139 0 H GRIRTAREELE 6,171 7 P4, 7.0%H4)

WA FE 5y 2,874 75 M GRIATAEEE L 8975 F L. 3.0%8)

;T
&

5(83,345 7 (RFETAEEEEE 42005 78, 0.8%7)

SRR ~ O AGERO T — R RFDEOUTESRA L KIELIT2D,



ERERAKRH O AR

FERE RHSEELYUTE DAEELUTE [k 39

E=EE(FA) HIE E=EE(FA) HIE E=EE(FA) U E
EEEFEPREHN 632,549 65.2% 624,936 68.7% 7,613 1.2%
. ZHemBAXXEST S REH 233,542 24.1% 176,889 19.5% 56,653 32.0%
e TEMTE S REH 75,303 7.8% 77,852 8.6% A 2,549 -3.3%
oM OB OB &R KR OH 28,400 2.9% 29,300 3.2% A 900 -3.1%
BEE |F oM OB B K KR oM 340 0.0% 330 0.0% 10 3.0%
&t 970,134 100.0% 909,307 100.0% 60,827 6.7%
(FB18) — IR RIRE 7 969,794 100.0% 908,977 100.0% 60,817 6.7%
(FB18) IR RIRIRE 7 340 0.0% 330 0.0% 10 3.0%
(FB18) REED 941,394 97.0% 879,677 96.7% 61,717 7.0%
(FB18) BEES 28,740 3.0% 29,630 3.3% A 890 -3.0%




®r B ®H £ E o W 3
SERE THSEELTFE THAEELNTFE e
& (FH) & & (FH) & & (FH) U

1 - R BERKRERE K S E 3,468,000 85.3% 3,378,000 85.2% 90,000 2.7%
2 BB HEKRKRERZEKLSTE 10 0.0% 10 0.0% 0 0.0%
3 |— B ® KR K FE K E B 47,000 1.2% 47,000 1.2% 0 0.0%
4 B B ® R KR & KB & & 10 0.0% 10 0.0% 0 0.0%
5 T RBEBRKRES B KR EE 505,000 12.4% 494,400 12.5% 10,600 2.1%
6 B B W KRKRE=S BEER=EE 10 0.0% 10 0.0% 0 0.0%
T |—RERKRESENESEREE 300 0.0% 300 0.0% 0 0.0%
8 EHBERKESENECEEESE 10 0.0% 10 0.0% 0 0.0%
9 |—HMERERENXERMEEREE 2,000 0.0% 2,000 0.1% 0 0.0%
1 — & # K& KB &F B % & 100 0.0% 50 0.0% 50 100.0%
"m B B & & K & 8B % # 10 0.0% 10 0.0% 0 0.0%
12 |H 3 " U5 # =1 16,809 0.4% 16,809 0.4% 0 0.0%
13 |3 = E & 4,250 0.1% 4,000 0.1% 250 6.3%
14 BEXLFHEH -FHEZKINE 18,300 0.5% 17,400 0.4% 900 5.2%
15 |5 ] F = & 2,000 0.0% 3,000 0.1% A 1,000 -33.3%
&t 4,063,809 99.9% 3,963,009 100.0% 100,800 2.5%
() —RERIRE 4,022,390 99.0% 3,921,740 99.0% 100,650 2.6%
(FB18) BREBHRIRE 7 60 0.0% 60 0.0% 0 0.0%
(BB EDi(11~14) 41,359 1.0% 41,209 1.0% 150 0.4%
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